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Lesson-5 : Fractions

Warm Up
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Exercise-1

)
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1. (a) (iv) To make the numerator of = 88 15, we have to multiply its

numerator and denominator by 5.
3 _3x5_15

7 7x5 35 )
S0, the equivalent fraction of 3 with numerator 15 is E

(b) (iii) To make the denominator of g as 36, we have to multiply its

numerator and denominator by 4.

4 4x4 16

9 9x4 16

4 16
So, the equivalent fraction of a with denominator 36 is —

36
2. {a] 1_3)(2:6 {] 36_364'4__9

- b) 222
10 10x2 40 20+4

25 _25+[5] 5 6 _6x[7]_[42]
© 2= - @ =24
0 30+|5 7 7x|7| 49
3 {a]é-‘-M:i y é:ﬁ:i E:M:E E:qxﬁzﬁ
B 5%2 10 " 5 5x3 15" 5 Bx 0°5 5x5 25



(b)

(c)

9 9x2 18" 9 9x3 27" 9 9x4 36° 9 9x5
: . . 1 2 3 4 5
: : 1 . Po! At mel g *
S0, the first four fractions equivalent to — are 8’ 27 36 1
(a) Ez.?l}(? 1:3}(3
’ 49 7x7" 21 7x3
21 9

3 .
—,— and — are equivalent.
49 21 7

S0, % is not equivalent to others.

15 - 9X3 10 _5x2

27 9x3’ 18 9x2
E E and —ﬂ are equivalent
27°9 18 4 )

So, % is not equivalent to others.

9 3x3 15 _3x5

12 4x3’ 20 4x5

3 9 15 .
—,— and — are equivalent.
4 12 20

So, % is not equivalﬂnt to others.



5. (a) Multiply the numerator of the 1st fraction with the denominator
of the 2nd fraction and the denominator of the 1st fraction with
the numerator of the 2nd fraction.

E E = = !
3 24 3%x24=72, 8x16=128
S0, ; and ﬁ are not equivalent fractions.
(b) 2 20
5 25

2x25=50, 5x10=>50

So, 2 :—md— are equivalent fractions,

25
6 42
© 7 19
6x49=294, 7x42=294
So, —ani42
7

are equivalent fractions,



Exercise-2

1. (a) (iv) One year = 12 months
8 months = %nfune year

Now, 8 _8+4 2

12 12+4 3
So, 8 months = % of one year.

b) (i X2 = K fZ10

(b) (ii) = 10 °f%"

N 1 _ 2+2 _l

a 10 10+2 5

8o, 22 = Lof210.

™

2. (a) We first find the HCF of 48 and 64.

Factors of 48 are (),Q2), 3., 6,8), 12, (6), 24, 48.
Factors of 64 are (D.(D.(D.(8), (@9, 32, 64.

Common factors of 48 and 64 are 1, 2, 4, 8, 16.
S HCFof48and 64=16

48 _48+16 _3
64 64+16 4
Thus, 48 in the lowest terms is 3. .
64 4
49 _49+7 7 , , -
(b) R P AR (HCF of49 and 63=7)
36 36+9 4 _
—_— = — 3 L,
(c) - B1+0-5 ( HCF of 36 and 81 = 9)
22 22+11 _

(d) % (HCF of 22 and 121 =11)

121 121+11

[
(o 35 _85+5 _17
100 100+5 20

75 _75+5 _15 .
h 2=2r==s ( HCF of 75 and 80 = 5)

( HCF of 85 and 100 =5)

Exercise-3

IER - FEN TR N BE




2. (a)
(b)
(c)
(d)
(e)

3. (a)

(c)

(e)

4. (a)
(b)
(c)
(d)
(e)
(f)
(g)
(h)
(i)

(j)

Numerator < Denominator, so, it is a proper fraction.
Numerator < Denominator, so, it is a proper fraction.
Numerator < Denominator, so, itis a proper fraction.

Numerator < Denominator, so, itis a proper fraction.

Numerator > Denominator, so, it is an improper fraction.

8
3

92
11

et

wn O ~J oo k2 = 2 %]
ool LN ~3jw we Blw o)== ra= N mw W

o

- 22 2
3 3 8
-6
2
5 5
= 5=
6 6| 35
-30
5
4 8
= 8—
1T 11 92
—58
4
_3x1+42 _ 342 _ 5
J 3 3
_ 5x3+3 _ 15+3 _ 18
5 5 5
_ Ix2+2 _ 1442 16
7 7 7
_ 2x4+1 _ 8+1 9
2 2 2
_ 9x2+1 _ 18+1
9 9
~ o AXB4+3 _ 83243 _
- !
_ SXT+2 . 3B+Z
5 5
= 7%x9+43 - 6343
7 7
_ O9x5+7 B 45+7 =
9 g
_ 8x6+5 _ 48+5
8 8

18 18+2
b =
.

- 42

@ 22 =104
5 5

.
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Exercise-4

(a) The fraction with the smaller numerator is smaller for like

fractions. 3 )
7 7
(b) The fraction with the greater numerator is greater for like
fractions. 1 10
4 4 12 12
() — E[ —
5 5
(d) The fraction with the smaller denominator is greater for unlike
fractions with same numerator. 2 3
7 5
(e) The fraction with the smaller denominator is greater for unlike
fractions with same numerator. 1 16
5 3
(f) The fraction with the greater denominator is smaller for unit
fractions. 1—15 %
2 4
g =S -
3 5
2x5=10, 3x4=12
Since 10 < 12, therefore, % %
(h 2 =
) 9 23
5x23 =115, 9 x20 =180
20

Since 115 < 180, therefore, 5 il
9 23



2. (a)

(b)

(c)

The fraction with the greater numerator is greater for like fractions.

50, the given fractions in ascending order are as follows :

12 3 46

sl il Al

The fraction with the smaller denominator is greater for unlike
fractions with same numerator.

S0, the given fractions in ascending order are as follows :
% 3 5 5§ 5

12 9" 7' 6’ 3
l, E, i, é, 1 are unlike fractions. So, we convert them
3° 6 12" 4" 2

into like fractions first,

Multiples of 3are 3, 6, 9,(12), 15, 18,21,(24d), 27, ...
Multiples of 6 are 6,(12), 18, 24), 30, 36, ...

Multiples of 12 are @ i ,

Multiples of 4 are 4, 8§, @, 16, 20, .,

Multiples of 2are 2, 4, 6, 8, 10,(12), 14, 16, 18, 20, 22, 29), ...
Common multiples of 3, 6, 12, 4 and 2 are 12, 24, ...
LCMof3,6,12,4and 2is 12.

The given fractions with 12 as the denominator are as follows :

1 _1x4 _ 4 5 _5x2 _10 7
3 3x4 12" 6 6x2 12° 12
3 _3x3 _ 9 1 _1x6 _ 6
4 4x3 12" 2 2x6 12°

The fraction with the greater numerator is greater for like fractions.

So, the given fractions in ascending order are as follows :

4 6 7 9 10

12/ 12 12" 12¢ 12
14 % 3 .5
oL 3+ 3r 13" §' §



3. (a) The fraction with the greater numerator is greater for like fractions,
So, the given fractions in descending order are as follows :

3 4 3 1
7777
3

17 9 . L . .
=, =—, = are unlike fractions, so, we convert them into like

6" 9’ 36" 4
fractions first,
36 is divisible by 6, 9 and 4 each.

LCM of 6, 9, 36, 4 is 36.
The given fractions with 36 as the denominator are as follows :

5 _ 5x6 _ 30

6 6 %6 36
3

(]
?’f
(b) 2

x4 12 17

9 " 9x4 36’ 36

The fraction with the greater numerator is greater for like fractions.

S0, the given fractions in descending order are as follows :

81 3 17 12 .9 5 17 3
36’ 36’ 36°36 '4'6'36'9

() The fraction with the smaller denominator is greater for unlike
fractions with same numerator,

So, the given fractions in descending order are as follows :

gt et 18



Exercise-5

1. (a) (i) @ represents g and @ represents g

Sum of the fractions for the shaded parts is g - L = B = L5 .

9 9 9
(b) (iii) Rohit spent [% +%J of the money.
LCMof3and 4=12
1_ 1x4 _ 4 1, Tl _ &
3 3x4 12 4 43 12
1 1 4 3 4+ 3 7
* = e = =—
3 -1 12 12 12 12
So, Rohit spent % of the money.
() (ii) Total time taken = [%—0—%] hour LCM of 8 and 10 = 30
5 1_1x5 _ 5
= )hour 6 x5 30’
_ [5+9]hour 10 10x3 30
30
= ﬁhc:nl_ll'
30
= [MJ hour [HCF of 14 and 30 =2]
302
p—
15 hour
Thus, Jyoti took % hour in all to complete her homeworlk.
13 5 _ 13+5 _ 18
2. @) Hge¥ 49 = Thg 19
5 10 _ 5+10 15
® 37+ %:1 = Tz;m T @
18 . to=3 _.D (HCEF of 15 and 21 = 3)
21 21+3 7
5 .10 _ 5
T’I"\LIS,E + —1— =
[ LCM of 10 and 15 = 30
10 10x3 307
i 4 4x2 8
38 50 | 15 T 15x2 ~ 30 g
(d) %+%=%+1—g [ LCM of 16 and 24 = 48
7 73 21
_21+10 31 16 16x3 48°
a8 % 5 _ 5%x2 _ 10
| 24 24x2 48 n
ey 1L . 1 22 = [ LCM of 15 and 6 = 30" |
15 6 30 © 30 11 _ 11x2 _ 22
_22+5 27 15 15=2 30’
30 30 1_ 1x5 _ 5
(5] 6x5 30
27 27 +.3 9 —
N el e T e =
ow, 30 30 =3 10 (HCF of 27 and 30 = 3)
Thus, 11 e i _ 92




@) L 45,6 _ 74546 18

24 24 24 24 24
18 . 18+6.. .3 b
Now, — = —— == (HCFofl8and 24 =6
oW, Vi oy deny ( 0 an )
Thus, i+i+£=E
24 24 24 4
1 5 8 _ 1+5+8 _14
e T T O T TR T
14 _18+2 7 .. "
Now, 8 18:2 9 (HCF of 14 and 18 =2)
'I‘hu:-},i+i+i=E
18 18 18 9
() E+E+%:E+£+E —LCMDf?End5=35"
7 Z " E 35 35 35 3 _3x5_15
_15+30+14 7 7x5 35’
35 6. 6x%5 .30
59 IE 7 Twb 35
=3 T35 2 _2x7 _14
h o%7 35
3 6, 2 4 24 — i
Thus, = + =+ = = 1=
U T T TTE T s
(d) 2+§+i:£+ﬂ+i LCMof7, 4,28 =28
7 4 28 28 28 28 2 2x4 8
_B+2141 30 7 7x4 28°
28 28 3 _3x7 _21
4 4x7 28
30 _30+2 _15 ; ot _ -
Now, 5% - oReD " 14 (HCF of 30 and 28 = 2)
ﬁ is an improper fraction, so, we convert it into a mixed fraction.
15 _ 41
14 14
TI’ILIS,E-FE'FL = ]l

7 4 28 14



Exercise-6
1. (a) (ii) Tina completed % of her homework.

Wodkileti=q_2-% 3 =9 1
4 4 4 4 4

s @ 1 ; . 2 :
(b) (iii) — and 5 are unlike fractions, so, we convert them into like
J

fractions first.

LCMof5and2=10

2 2x2 4 1 1x5 5
5 5x2 10 2 2x5 10

% is greater than % . Thus, Sonal bought more ribbon.

1 2 < 4 o—4 1]

2 5 10 10 10 10
Thus, Sonal hought% m longer ribbon than Manu.




. (a)

12 4 6

11 7 _11-7 _ 4
- @ F-uTTe 1
r\mw,l‘i‘:L - 1?22 :% ( HCF of 4 and 14 =2)
+
i, ¥ 3
Thus; sk =&
e 7 v
B 32wl e ld-le 8
24 24 24 24
Now, ;‘—4 - 251188=%(HCF0f8and2428)
5 7 _1
Thus, 2 = 2473
5 et B
18718 18 18
17 _ 13 _17-13 _ 4
@55 "5 15
L@2_[_3 g) A pllie B
@551 S TR Fr1 [T
@ 2 2=k @ 71_2_3
9 9 15 15 15
5 1.5 _ 2 I :
o moidee B ol LCMof8and4=8
8 4 8 8 l:b(z:g
~5-2 3 | 4 4x2 8
"8 8
3. B0 o8 F -
(b) =~ 10 m 10 LC]\é‘Ing:gd_]DL]U
_6-4_2 5 5x2 10
0 10
Now % = ]20*_22=% (HCF of 2 and 10=2)
Thus,é_i=l
5710 5
© - §=3—g . % LCM of 7 and 6 =42
6 _6x6 _ 36
_ 36-35 7 7x6 42
42 5_5x7 _35
= 6 6x7 42
42
11 3_11 _ 9 i
(d)—= - ==— - — LCMof12 and 4 =12
12" % 127 12 3_3x3_9
=% =% 4 4x3 12
Now, %=%=% (HCFof2and 12=2)
Thus,ﬂ—§=l




